
Premier        2007– C Ford Edge        Product No: 67058 
                  
  IN348                                                                               

Owens Products Inc. • 1107 Progress Street • Sturgis, MI 49091 • 269-651-2300 • Toll-Free:800-726-9367 •  
Fax: 269-651-9326 • www.owens-pro.com 

1) 2) 

Hardware included shown on right. 
 
Tools required: 
 
• 3/8” Nut driver 
• 12mm Metric socket 
• 1/2” Standard socket 
• Tape measure 
• Drill 
• 23/64” Drill bit 
 
-Painting your Premier board is not 
necessary. The board is made with 
UV protected ABS plastic that will 
resist fading and cracking from the 
sun. 

4) 

Note: Drilling into body is required.                    Please read all instructions prior to starting install. 

3) 

Measure from the front edge of the rear 
wheel well forward. At locations 9 1/2”, 
29”,38 1/2” and 67 1/2” is where the brackets 
will be attached.  There are notches in the 
factory trim at these locations. 

At the 9 1/2” location remove the factory bolt 
next to the slotted hole in the rear suspension 
bracket.  Do not discard bolt. 

Drill a 23/64” hole through the pinch weld at 
the 9 1/2” location. 

Attach FL134 bracket using the previously 
removed bolt and a supplied 5/16” bolt and 
nut. 

Remove but do 
Not discard. 

Page 1 

Drivers side shown in photos. 



Premier        2007– C Ford Edge        Product No: 67058 
                  
  IN348                                                                               

Owens Products Inc. • 1107 Progress Street • Sturgis, MI 49091 • 269-651-2300 • Toll-Free:800-726-9367 •  
Fax: 269-651-9326 • www.owens-pro.com 

5) 

Assemble FL133 and BT41 with 5/16” bolt and 
nut.  Leave BT41 loose until step #6. 

6) 

At 29” location drill a 23/64” hole in pinch weld 
and attach with 5/16’ bolt and nut.  Use a 3/8” 
nut driver and fasten BT41 bracket with 3/4” 
long self drilling screws. Tighten all bolts. 

7) 

At 38 1/12” location dril 23/64” hole in pinch 
weld.  Insert  in‐pull nut into factory slot in the 
underbody cross member. Fold metal tab flat to 
hold in place. 

8) 

Attach FL132D (DRIVER) using a 5/16” bolt and 
nut to the pinch weld and supplied 8mm bolt 
into the in‐pull nut. 

9) 

At 67 1/2” location drill a 23/64” hole through 
pinch weld.  Attach FL131 using a 5/16” bolt and 
3/4” long self drilling screw. 

10) 

Attach a 3124F angle bracket to each flat bracket 
with 5/16” bolts and nuts.  Do not tighten at this 
time. 

Self drilling 
screw 

Page 2 

8mm bolt 
5/16” bolt & nut 



Premier        2007– C Ford Edge        Product No: 67058 
                  
  IN348                                                                               

Owens Products Inc. • 1107 Progress Street • Sturgis, MI 49091 • 269-651-2300 • Toll-Free:800-726-9367 •  
Fax: 269-651-9326 • www.owens-pro.com 

Apply foam tape to rear lip of board and apply 
the step tread. 

Position board on brackets keeping the rear edge 
of the board flush with the rear wheel opening to 
allow for optional front mud flaps.  Have another 
person help hold the board or hold in place with 
small jacks. 

Fasten board to brackets with 3/4” self drilling 
screws.  Level board and tighten all bolts.  Apply the Logo. 

11) 

Repeat all steps for passenger side. 

Page 3 

12) 

13) 
14) 


